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2 222 88330835855 3308 g/&5&|2|5|2|8 & & & &
1a| 1 11 1 3 16 3
13a| 3 1 1 4 43|73 2 8 3
22¢| 1 2 2 2 1 5 7131 9 5 5
24al 3 1 4 4| 4|1|6]16 14
30al 6 2 11 4 2 3 2 2|2 11 5
33a 6 5 7 6 6 7 1 1
35a| 2 14 4 3 3 2|4 6 2
z 42a| 5 4 4 1 4 4|6 16 19 1
7 42b| 6 1 3 3 7 4 3|5 2 1 7 13
Z 453 4 5 2 4 2 2 10 2 1]|3]|2 3 9
e 45b 2 4 4 5 2 1 1 3 3 1 5
g 47a/33b| 5 7 11 20 3 5|1 5 9
£ 49al 1 1 5 8 3 5 3 5 1
© 59al 3 10 5 2 1 1 1 3 4|21 2
63al 3 7 4 6 4 6|12 6
67b| 5 7 1 2 4 4 6|23 4 4 4
74a| 2 4 4 6 3 3 4 6|5 7 9
82al 1 8 1 3 6 161 2|26 6 6 4
83l 2 3 5 2 2|1 2 7
85c| 6 4 1 11 5 5|22 9 3 2
94a/94b 4 9 9 1 1 6 313 1]3]|09 2
9% ORN+UPN input 59 11 16 4 |61 25 14 5 48 50 11 12 9 13 55 32 47|64 76|48]|37]| 40|67 63 55 41 47
Broad INTrio (3)| 4 1 2 5 6 1 3 4 5 8 6 7 4 214 612|674 7 4 8 3
Broad LNDuet(2)| 2 1 2 1 3 7 2 2 22 22 8 6 4 2 2 3|1|5|3]l9 5 4 a4 2
Keystone LN (2) 1 3 1 1 1 2 9 6|5 1 5 2 6 4 1 2
Choosy LN (2) 4 3 6 2 1 1 1 4 8 1 2 3 1 4 1 2
2 Ventral LN 4 1 711 111] 4 2 3 6 4
= Picky LNO | 2 8 4 2 2 2 2|1 1|8]|2]|a4 5 1 4
Picky IN1| 3 6 1 16 12 6 5 3 4 2 11112
Picky LN 2 1 5 3 1 2 6 9 4 3 1 10 1 1
Picky LIN3 | 7 4 2
Picky LN 4 25 4 3 17 1 3 3 4 4 2 8 6 12 3 1 3| 4 1 7 2
% LN Input 18 28 32 8 22 32 3 15 27 25 49 54 20 25 26 31 23|22 16|22[32[17|19 31 27 15 18
9% ORN+UPN+LN input 77 39 48 1284 57 17 20|75 75 61 66 29 3881 63 69|87 92]70(69] 57 86-82 56 65
o Descending 1 2 8 1 6 4 6 1 2 3 2 1 1 1
gs csD(2)| 2 5 1 5 1 1| 3 1 1
g3 IAL-1 (2) 2 1 2 2 1 1| 5| 2 3 1
Q3 tdc (2) 1 2 1 1 1 2 2 1




